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x1 + 7x2 + x3 + 3x4 + 2x5 + 2x6 + 4x7 + 6x8 + 9x9 = 0

5x1 + 7x2 + 5x3 + 9x4 + 2x5 + 8x6 + 3x7 + x8 + 3x9 = 0

4x1 + 7x2 + 7x3 + 2x4 + x5 + 2x6 + 3x7 + x8 + 2x9 = 0

4x1 + 5x2 + 9x3 + 8x4 + x5 + 2x6 + 4x7 + 5x8 + 9x9 = 0

2x1 + 6x2 + 3x3 + 9x4 + 6x5 + 10x6 + 4x7 + 9x8 + 2x9 = 0	'�Æ��#���*�������
A=[ 1 7 1 3 2 2 4 6 9

5 7 5 9 2 8 3 1 3

4 7 7 2 1 2 3 1 2

4 5 9 8 1 2 4 5 9

2 6 3 9 6 10 4 9 2 ];

B=rref(A)��
B =

1 0 0 0 0 893/429 -137/142 -590/191 -1443/305

0 1 0 0 0 -328/809 153/256 353/438 553/279

0 0 1 0 0 -147/194 77/232 75/86 99/101

0 0 0 1 0 31/264 85/333 78/121 1214/809

0 0 0 0 1 166/105 -25/158 17/53 -751/267
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B1=-B(:,6)

B2=-B(:,7)

B3=-B(:,8)

B4=-B(:,9)��
B1 =

-893/429

328/809

147/194

-31/264

-166/105

B2 =

137/142

-153/256

-77/232

-85/333

25/158

B3 =

590/191

-353/438
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-75/86

-78/121

-17/53

B4 =

1443/305

-553/279

-99/101

-1214/809

751/267+
�-	'�Æ��#!
η1 = (−893/429, 328/809, 147/194,−31/264,−166/105, 1, 0, 0, 0)T ,

η2 = (137/142,−153/256,−77/232,−85/333, 25/158, 0, 1, 0, 0)T ,

η3 = (590/191,−353/438,−75/86,−78/121,−17/53, 0, 0, 1, 0)T ,

η4 = (1443/305,−553/279,−99/101,−1214/809, 751/267, 0, 0, 0, 1)T ." ��$%
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8x1 + 15x2 − 3x3 − 8x4 − x5 − 4x6 + 5x7 + 6x8 + 10x9 − 12x10 = 0

2x1 + 11x2 − 8x3 − 2x4 − x5 − x6 − 9x7 − 2x8 − 16x9 + 3x10 = 0

−10x1 − 7x2 + 5x3 + 7x4 + 5x5 + 15x6 − 2x7 − 21x8 − x9 − 4x10 = 0

13x1 − 13x2 + 15x3 − 9x4 − 6x5 − 6x6 − 6x7 + x8 − 7x9 + x10 = 0

3x1 − x2 − 5x3 − 12x4 − x5 − 13x6 + 5x716x8 − 10x9 − 4x10 = 0	'�Æ��#�
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